

Thursday 1:00 pm

## Cardinal Lanes North

Lanes 1 - 24

### Team Standings

Place	#	Team Name	Points Won	Points Lost	Pins + HDCP	Place	#	Team Name	Points Won	Points Lost	Pins + HDCP
1	5	LET IT GO!	19	2	43415	13	20	CATCH 22	11	10	42735
2	24	ONLY A FLESH WOU	19	2	38422	14	4	FABULOUS FOUR	10	11	42113
3	14	BEACH BUMS	17	4	43600	15	2	OLDIES BUT GOODI	9	12	43466
4	13	THE PICKLES	16	5	40710	16	21	ROLLING THUNDER	9	12	43125
5	19	19	16	5	7362	17	9	WWJD	9	12	43044
6	22	LATE FOR THE PARTY	14	7	43444	18	18	SPARE ME NOT	8	13	43000
7	6	LUCKY STRIKES	14	7	43245	19	1	SPLIT HAPPENS	6	15	43022
8	10	SALTY BOWLERS	14	7	43155	20	11	SPARE US	5	16	43273
9	7	PIN PALS	14	7	35964	21	12	PAN-KOR	2	19	42960
10	8	COUGARS +1	12	9	44112	22	17	THE LAKERS	2	19	42907
11	16	THE SUNSHINE GAN	12	9	43546	23	15	STRIKE FORCE	2	19	42890
12	23	SILVER SHARKS	12	9	42987	24	3	ROCK N ROLLERS	0	21	43402

### Review of Last Week's Bowling.....

Lanes	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON
1-2	CATCH 22	796	861	739	2396	2	<--> LATE FOR THE PART	852	843	843	2538	5
3-4	THE SUNSHINE GAN	799	763	743	2305	0	<--> SALTY BOWLERS	851	800	832	2483	7
5-6	SPARE ME NOT	724	726	785	2235	0	<--> ONLY A FLESH WOU	863	754	801	2418	7
7-8	BEACH BUMS	799	803	824	2426	5	<--> PAN-KOR	802	782	822	2406	2
9-10	ROLLING THUNDER	834	766	772	2372	5	<--> 19	818	761	777	2356	2
11-12	PIN PALS	806	887	737	2430	5	<--> SPLIT HAPPENS	768	785	876	2429	2
13-14	SILVER SHARKS	828	818	784	2430	5	<--> THE LAKERS	814	767	827	2408	2
15-16	ROCK N ROLLERS	763	712	754	2229	0	<--> LET IT GO!	782	788	784	2354	7
17-18	LUCKY STRIKES	804	844	817	2465	7	<--> FABULOUS FOUR	588	648	623	1859	0
19-20	STRIKE FORCE	755	778	807	2340	0	<--> WWJD	789	845	809	2443	7
21-22	OLDIES BUT GOODI	801	805	789	2395	2	<--> COUGARS +1	814	772	862	2448	5
23-24	SPARE US	800	722	812	2334	0	<--> THE PICKLES	807	752	871	2430	7

### Lane Assignments

	1-2	3-4	5-6	7-8	9-10	11-12	13-14	15-16	17-18	19-20	21-22	23-24
Wk20 02/05	16- 12	24- 20	14- 10	22- 18	3- 7	23- 19	1- 5	17- 21	11- 15	8- 4	13- 9	2- 6
Wk21 02/12	17- 9	19- 11	21- 13	23- 15	10- 2	12- 4	14- 6	16- 8	18- 1	20- 3	22- 5	24- 7

### Last Week's Top Scores

	Team Scratch Game	Team Scratch Series	Team Handicap Game	Team Handicap Series
	710 THE PICKLES	1980 LATE FOR THE PARTY	887 PIN PALS	2538 LATE FOR THE PA
	693 ONLY A FLESH WOU	1947 THE PICKLES	876 SPLIT HAPPENS	2483 SALTY BOWLERS
	681 SPLIT HAPPENS	1913 ROLLING THUNDER	871 THE PICKLES	2465 LUCKY STRIKES
	681 ROLLING THUNDER	1908 ONLY A FLESH WOU	863 ONLY A FLESH WOU	2448 COUGARS +1
Men	Scratch Game	Scratch Series	Handicap Game	Handicap Series
	247 TONY KANELLIS	601 LOU TEDESCO	271 TONY KANELLIS	705 MARK BONO
	220 RICH GONNELLI	585 RICH GONNELLI	250 RAY BURGER	671 TOM LOVE
	217 LOU TEDESCO	574 TONY KANELLIS	250 DANNY SOMMERSET	661 LEN STINE
	211 DANNY SOMMERSET	551 JIM ITTIG	247 MARK BONO	655 TONY GRILLO
	210 JOHN PETERSON	535 JOHN PETERSON	243 RICH GONNELLI	654 RICH GONNELLI
	194 RAY BURGER	535 HOWARD AFFINITO	242 FREDDY JUSTICE	648 ROB POSTELL SR
Women				
	186 JANE ORSENO	521 KAREN PANAS	253 MICHELLE PALUCHAK	714 MICHELLE PALUCHAK
	183 ROBIN HOWARD	479 JANE ORSENO	243 LORRAINE MCEVOY	665 KAREN PANAS
	179 KAREN PANAS	477 DOLLY HUFFMAN	241 LOUANN GILLIGAN	654 MARGO CRABB
	178 LORRAINE MCEVOY	462 DOTTY KARIKA	241 JANE ORSENO	648 DOTTY KARIKA
	178 DOLLY HUFFMAN	457 ROBIN HOWARD	235 SANDY BURGER	644 LORRAINE MCEVOY
	175 LOUANN GILLIGAN	449 LORRAINE MCEVOY	234 DOTTY KARIKA	644 JANE ORSENO

### Season High Scores

Team Scratch Game	Team Scratch Series	Team Handicap Game	Team Handicap Series
795 SPARE US	2133 SPARE US	942 ROCK N ROLLERS	2624 SPLIT HAPPENS
783 ROLLING THUNDER	2111 ROLLING THUNDER	939 SPLIT HAPPENS	2619 LATE FOR THE PA
744 SPLIT HAPPENS	2061 STRIKE FORCE	931 LUCKY STRIKES	2618 PAN-KOR

Team Scratch Game		Team Scratch Series		Team Handicap Game		Team Handicap Series	
732	STRIKE FORCE	2034	LATE FOR THE PARTY	919	SPARE US	2609	LUCKY STRIKES
	<b>Scratch Game</b>		<b>Scratch Series</b>		<b>Handicap Game</b>		<b>Handicap Series</b>
<b>Men</b>	279 LOU TEDESCO	699	LOU TEDESCO	288	RICH GONNELLI	749	DAN ELLIS
	267 RICH GONNELLI	680	DAN ELLIS	279	LOU TEDESCO	736	TONY IRENZE
	266 HOWARD AFFINITO	674	HOWARD AFFINITO	279	HOWARD AFFINITO	729	DANNY ARNOLD
	253 DAN ELLIS	625	EDDIE MCCRARY	276	JAMES BROWN	724	DANNY SOMMERSET
<b>Women</b>	222 DOLLY HUFFMAN	534	ROBIN HOWARD	277	JENNIFER STELLA	720	JENNIFER STELLA
	214 JANE ORSENO	533	JANE ORSENO	276	DOLLY HUFFMAN	715	LOUANN GILLIGAN
	212 KAREN PANAS	521	KAREN PANAS	274	JANE ORSENO	714	MICHELLE PALUCHAK
	212 ROBIN HOWARD	517	DOLLY HUFFMAN	273	DORIS JOHNSON	713	JANE ORSENO

**Split 1 High Scores**

Team Scratch Game		Team Scratch Series		Team Handicap Game		Team Handicap Series	
795	SPARE US	2133	SPARE US	942	ROCK N ROLLERS	2624	SPLIT HAPPENS
783	ROLLING THUNDER	2111	ROLLING THUNDER	939	SPLIT HAPPENS	2619	LATE FOR THE PA
744	SPLIT HAPPENS	2061	STRIKE FORCE	931	LUCKY STRIKES	2618	PAN-KOR
732	STRIKE FORCE	2034	LATE FOR THE PARTY	919	SPARE US	2609	LUCKY STRIKES
	<b>Scratch Game</b>		<b>Scratch Series</b>		<b>Handicap Game</b>		<b>Handicap Series</b>
<b>Men</b>	279 LOU TEDESCO	699	LOU TEDESCO	288	RICH GONNELLI	749	DAN ELLIS
	267 RICH GONNELLI	680	DAN ELLIS	279	LOU TEDESCO	736	TONY IRENZE
	247 DAN ELLIS	649	HOWARD AFFINITO	276	JAMES BROWN	729	DANNY ARNOLD
	244 MIKE ORSENO	620	SKIP FLYNN	275	TONY IRENZE	723	OSSIE DURANT
<b>Women</b>	222 DOLLY HUFFMAN	534	ROBIN HOWARD	277	JENNIFER STELLA	720	JENNIFER STELLA
	214 JANE ORSENO	533	JANE ORSENO	276	DOLLY HUFFMAN	713	JANE ORSENO
	212 KAREN PANAS	518	KAREN PANAS	274	JANE ORSENO	693	BARBARA SCHADT
	212 ROBIN HOWARD	517	DOLLY HUFFMAN	273	DORIS JOHNSON	693	CONNIE SOMMERSET

**Team Rosters**

Name	Pins	Gms	Avg HDCP		Name	Pins	Gms	Avg HDCP	
<b>1 - SPLIT HAPPENS</b> Lane 13 HDCP=193 Avg=607					<b>2 - OLDIES BUT GOODI</b> Lane 23 HDCP=220 Avg=580				
RICH GONNELLI	9633	54	178	22	WOODY WOODWARD	8400	48	175	25
THERESA SEAVERNS	7138	54	132	68	BOB HENDERSON	6096	51	119	81
LORRAINE MCEVOY	7360	54	136	64	JOHN BONNER	7999	48	166	34
RICK BATTS	3722	23	161	39	VACANT	0	0	120	80
<b>3 - ROCK N ROLLERS</b> Lane 9 HDCP=261 Avg=539					<b>4 - FABULOUS FOUR</b> Lane 20 HDCP=225 Avg=575				
DORIS JOHNSON	5592	48	116	84	LEN STINE	7948	51	155	45
BRIAN KOEPF	3825	33	115	85	NANCY COONS	5246	39	134	66
KATHY PRETTO	6180	42	147	53	DOLLY HUFFMAN	7284	48	151	49
DANNY ARNOLD	7732	48	161	39	JIM KASS	406	3	135	65
					VACANT	0	0	120	80
<b>5 - LET IT GO!</b> Lane 14 HDCP=237 Avg=563					<b>6 - LUCKY STRIKES</b> Lane 24 HDCP=213 Avg=587				
GLENN BOYETTE	6507	42	154	46	FREDDY JUSTICE	6798	48	141	59
CONNIE SOMMERSET	5366	51	105	95	KATHY BISBING	6258	45	139	61
MARIANNE LARE	7284	51	142	58	BOB GRISSOM	6019	40	150	50
DANNY SOMMERSET	8304	51	162	38	SAMMY BRADSHER	8038	51	157	43
<b>7 - PIN PALS</b> Lane 10 HDCP=247 Avg=553					<b>8 - COUGARS +1</b> Lane 19 HDCP=254 Avg=546				
PATTY LYNCH	2109	18	117	83	BETTY BRADSHER	6619	51	129	71
MIKE LYNCH	5302	33	160	40	ALICE KLARMAN	6135	51	120	80
SANDY BURGER	5555	42	132	68	LOUANN GILLIGAN	6881	51	134	66
RAY BURGER	6075	42	144	56	JAMES BROWN	7829	48	163	37
TAMMY BURGER	872	6	145	55					
<b>9 - WWJD</b> Lane 22 HDCP=205 Avg=595					<b>10 - SALTY BOWLERS</b> Lane 6 HDCP=303 Avg=497				
TOM LOVE	7495	51	146	54	MICHELLE PALUCHAK	5279	48	109	91
DOTTY KARIKA	5464	39	140	60	KAREN O'KELLEY	5150	51	100	100
JEFF ALFORD	8233	54	152	48	SHAUN O'KELLEY	8604	51	168	32
ROBIN HOWARD	6129	39	157	43	VACANT	0	0	120	80
<b>11 - SPARE US</b> Lane 17 HDCP=145 Avg=655					<b>12 - PAN-KOR</b> Lane 2 HDCP=253 Avg=547				
EDDIE MCCRARY	9806	54	181	19	DIANE LASTINGER	6056	42	144	56
JENNIFER STELLA	4369	39	112	88	MARY ANN MINTIER	1002	9	111	89
TONY IRENZE	8398	51	164	36	GARY MINTIER	6281	48	130	70
LOU TEDESCO	9537	48	198	2	CHRIS LASTINGER	6338	39	162	38

Name	Pins	Gms	Avg HDCP	
<b>13 - THE PICKLES</b> Lane 21 HDCP=220 Avg=580				
JEFF BOYELL	4520	33	136	64
KAREN DILL	2213	18	122	78
KEVIN DILL	4087	24	170	30
TIEN HUYN	4127	27	152	48

Name	Pins	Gms	Avg HDCP	
<b>15 - STRIKE FORCE</b> Lane 18 HDCP=164 Avg=636				
BOB KIRK	6770	45	150	50
STU WHITE	7352	51	144	56
SKIP FLYNN	6553	39	168	32
JAY TURNER	8922	51	174	26

Name	Pins	Gms	Avg HDCP	
<b>17 - THE LAKERS</b> Lane 15 HDCP=258 Avg=542				
BARBARA SCHADT	5523	54	102	98
RON EVANS	8117	54	150	50
TONY GRILLO	3259	21	155	45
TIM HOLLOMAN	4744	35	135	65
ABBEY HOLLOMAN	227	3	75	125

Name	Pins	Gms	Avg HDCP	
<b>19 - 19</b> Lane 12 HDCP=204 Avg=596				
MIKE BAKOS	1232	9	136	64
ANN JONES	1155	9	128	72
FRANK CZUPRYZSKI	1460	9	162	38
PETE JONES	1538	9	170	30

Name	Pins	Gms	Avg HDCP	
<b>21 - ROLLING THUNDER</b> Lane 16 HDCP=154 Avg=646				
ROB POSTELL SR	8172	51	160	40
TERRY MADDEN	9101	54	168	32
RICK JAMISON	6831	45	151	49
JOHN DANIELS	5539	33	167	33

Name	Pins	Gms	Avg HDCP	
<b>23 - SILVER SHARKS</b> Lane 11 HDCP=231 Avg=569				
JANE ORSENO	7018	48	146	54
JAN TUCKER	5289	42	125	75
MIKE ORSENO	8368	54	154	46
DONNA DEMAIO	4330	30	144	56

Name	Pins	Gms	Avg HDCP	
<b>14 - BEACH BUMS</b> Lane 5 HDCP=280 Avg=520				
MARGO CRABB	5133	45	114	86
GAIL DURANT	5033	42	119	81
OSSIE DURANT	5543	42	131	69
JIM CRABB	7971	51	156	44

Name	Pins	Gms	Avg HDCP	
<b>16 - THE SUNSHINE GAN</b> Lane 1 HDCP=295 Avg=505				
DIANNE SAKMAR	5771	48	120	80
GEORGE SCHADT	7085	54	131	69
MARIANNE TAVENNER	7437	54	137	63
EVE MORRIS	706	6	117	83
BOB TAVENNER	4905	32	153	47

Name	Pins	Gms	Avg HDCP	
<b>18 - SPARE ME NOT</b> Lane 8 HDCP=190 Avg=610				
DEBBIE ELLIS	5235	48	109	91
FRAN MERRITT	7931	54	146	54
NORM MERRITT	8750	51	171	29
DAN ELLIS	9939	54	184	16

Name	Pins	Gms	Avg HDCP	
<b>20 - CATCH 22</b> Lane 4 HDCP=295 Avg=505				
BARBARA SCOTT	4474	48	93	107
JILL CRITCHFIELD	3536	33	107	93
JIM MANCINI	4597	33	139	61
DAVID CRITCHFIELD	8493	51	166	34

Name	Pins	Gms	Avg HDCP	
<b>22 - LATE FOR THE PARTY</b> Lane 7 HDCP=184 Avg=616				
KAREN PANAS	7385	48	153	47
MARK BONO	6527	48	135	65
LUVETTE HICKEY	7034	51	137	63
JIM ITTIG	9169	48	191	9

Name	Pins	Gms	Avg HDCP	
<b>24 - ONLY A FLESH WOU</b> Lane 3 HDCP=170 Avg=630				
ELAINE KANELLIS	4873	39	124	76
TONY KANELLIS	5512	31	177	23
HOWARD AFFINITO	8456	45	187	13
DON SPITZNER	2133	15	142	58

**Temporary Substitutes Division 1: Enter Div Label**

**Men Division 1: Enter Div Label**

Name	Avg HDCP	Pins	Gms	High Game	High Sers	HDCP Game	HDCP Sers	-1-	-2-	-3-	Total	HDCP Total
ZACH BAGWELL	166	34	1495	9	183	515		169	170	176	515	626
RICHARD BATTS	bk167	33	0	0	0	0					0	0
TONY COSTAGLIOLA	141	59	1272	9	183	516					0	0
FRANK CZUPRYNSKI	163	37	491	3	183	491					0	0
MALCOLM DAVIS	128	72	4100	32	166	443	238				662	0
JOHN EGRESITZ	bk167	33	0	0	0	0					0	0
JIM HEMENWAY	bk151	49	0	0	0	0					0	0
DON KASS	165	35	5945	36	230	562	270				697	0
GARY KOHUNSKY	bk152	48	0	0	0	0					0	0
MIKE MCGILLEN	bk98	102	0	0	0	0					0	0
JAMES NELSON	120	80	0	0	0	0					0	0
JEFF PENSAK	190	10	1712	9	221	599					0	0
JOHN PETERSON	171	29	6168	36	247	579	240	178	147	210	535	625
ROBERT POSTELL JR	206	0	1856	9	268	638					0	0
KEN RAFFINO	185	15	556	3	210	556					0	0
SKIP SEYMOUR	134	66	1616	12	181	466					0	0
RICK SPECKHARDT	187	13	563	3	235	563					0	0

**Women Division 1: Enter Div Label**

Name	Avg HDCP	Pins	Gms	High Game	High Sers	HDCP Game	HDCP Sers	-1-	-2-	-3-	Total	HDCP Total
DEBI AFFINITO	120	80	0	0	0	0					0	0
PENNY BRINKLEY	98	102	1179	12	147	352					0	0
LINDA BROWN	124	76	1117	9	185	415					0	0
BEV BUTLER	bk151	49	0	0	0	0					0	0
DOROTHY CAMERON	bk140	60	0	0	0	0					0	0
DIANE EGRESITZ	bk137	63	0	0	0	0					0	0
AMY FORMENEK	131	69	788	6	140	398					0	0
SANDRA HEMENWAY	bk115	85	0	0	0	0					0	0

Name	Avg HDCP		Pins	Gms	High	High	HDCP	HDCP	-1-	-2-	-3-	Total	HDCP
					Game	Sers	Game	Sers					Total
PATSY HILL	95	105	285	3	114	285						0	0
JANET KOZA	bk128	72	0	0	0	0						0	0
CHRISTINE MCEVOY	94	106	2256	24	130	308	238	631				0	0
RHONDA TALESCO	106	94	319	3	114	319						0	0
WENDY WILLIAMS	151	49	455	3	157	455						0	0